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Answer ALL questions.
PART A — (10 x 2 = 20 marks)

What is the transfer function of fabry perot filter?

What is the need for wavelength conversion?,’

What are netwofk elements used in SONET architecture?
What do you mean by dual homing?

What is the loss in star topology for an excess loss of 0.1 dB and number of
nodes n = 16?

What is the throughput of DT-WDMA protocol?

Write the steps for wavelength assignment using greedy algorithm. -
What is reconfigurable network? 4

Name some testbeds used in testing optical time division multiplexing.
What is dead lock? ‘

PART B — (5 x 16 = 80 marks)

(a) 'What is the function of isolator in optical network? Explain the working
principle of polarization dependent and polarization independent
isolators. :

Or

(b) Explain the principle of operation of Mech-zehnder interferometer.
Derive transfer function of Mech-zehnder interferometer.
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What are the advantages of PDH over SONET? Discuss about the
multiplexing process and physical layer of SONET.

Or

Discuss about fault management done in point to point link and ring
networks.

Prove that the throughput of modified slotted aloha is superior to slotted
aloha. Plot G versus throughput with fixed L and W. Let L =10 and
W = 16, where G is the arrival rate of control packets, W is the number of
wavelengths and L offered load. ;

Or

Write brief notes on broadcast and select network testbeds.

What are the traffic models employed in the study of network design?
State the theorems which is involved in the design of a best static
network.

Or

What is routing and wavelength assigmnent problem? State the
constraints to be obeyed during wavelength assignment and discuss
about any four wavelength assignment algorithms.

Explain the functions of routing node in switch based Network? What is
deflection reuting?

Or

Explain with neat block diagram, bit interleaving method of multiplexing
and demultiplexing used in photonic packet switching network.





